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Question 1: £100
type question here.

A:

wrong

B:

right

C:

wrong

D:

wrong
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Click here for
next question




Question 2: £200
type question here.

A:

wrong

B:

wrong

C:

right

D:

wrong
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Click here for
next question




Question 3: £500
type question here.

A:

wrong

B:

wrong

C:

wrong

D:

right
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Click here for
next question




Question 4: £1,000
type question here.

A:

right B: wrong

C:

wrong D: wrong

@9 &D &

12 £1 million

11 £250,000
10 £125,000
£64,000
£32,000
£16,000
£8,000
£3,000
£1,000
£500
£200
£100

R N W A~ U1 O N 0 ©

Click here for
next question




Question 5: £3,000
type question here.

A:

wrong B:

wrong

C:

right

D:

wrong
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Click here for
next question




Question 6: £8,000
type question here.

A:

wrong B:

wrong

C:

right

D:

wrong
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Click here for
next question




Question 7: £16,000
type question here.

A:

right B: wrong

C:

wrong D: wrong
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Click here for
next question




Question 8: £32,000
type question here.

A:

wrong B: right

C:

wrong D: wrong
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Click here for
next question




Question 9: £64,000
type question here.

A:

wrong B: wrong

C:

wrong D: right
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Click here for
next question




Question 10: £125,000
type question here.

A:

wrong B: right

C:

wrong D: wrong
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Click here for
next question




Question 11: £250,000
type question here.

A:

wrong B: right

C:

wrong D: wrong
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Click here for
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A:

C:

Question 12: £1 million
type question here.

wrong — B: wrong
right — D: wrong
Congratulations

You have won
£1 million
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